Week 15, Day 3
Coin puzzles

Each day covers one maths topic. It should take you about 1 hour or just a little more.

1. Start by reading through the Learning Reminders. T

Round decimals to the nearest whole, tenth and hundredth.
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2. Tackle the questions on the Practice Sheet. A S
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There might be a choice of either Mild (easier) or
Hot (harder)!
Check the answers.
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3. Think you’ve cracked it? Whizzed through the Practice Sheets?
Have a go at the Investigation...
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Learning Reminders

Solve coin puzzles.

These four COin_S ne?d 1. The first two coins have a total of 12p.
tobearrangedinaline |2, The first coin is double the value of the third coin.
according to the 3. The second and third coins have a total of 7p.
4

following NV The second coin is double the value of the last coin.

Look at the first
clue. What must
the first 2 coins be?

2p and 10p, but we
don’t know what
order yet.

Look at the third
clue. What must the
second coin be? 2p.

Now we're getting there!
Carry on working through the
other clues.
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Practice Sheet for All
Coin logic puzzles

Arrange these four coins in a row to match the clues.
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The first coin is worth 3p more than the second coin.
The first coin is half the value of the last coin.
The second coin is twice the value of the third coin.
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Arrange these four coins in a row to match the clues.

® H A & x o

The first coin is worth double the second coin.
The second coin is worth double the third coin.
The last two coins have a total of 7p.

6 H V @& ¥ &

Hot: Now try this Challenge.

Challenge

Now choose how to line up four coins, 2p, 5p, 10p and 20p.
Write your own clues for other children to guess your order of coins!
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Practice Sheet Answers

® H A & «*

Coin logic puzzles

Arrange these four coins in a row to match the clues.
1. The first coin is worth 3p more than the second coin.
2 The first coin is half the value of the last coin.

3. The second coin is twice the value of the third coin.

Arrange these four coins in a row to match the clues.
1. The first coin is worth double the second coin.
2. The second coin is worth double the third coin.

3. The last two coins have a total of 7p.
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. Queen Esmerelda's coins N
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Queen Esmerelda had 20 gold coins. 3
She put them in four piles. :
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O The first pile had four more coins than the second. x
X
« 0 The second pile had one less coin than the third.
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0 The fourth pile had twice as many coins as the 3
A second. <
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How many gold coins did Esmerelda put in each pile? -
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